SHM-1.  A mass is oscillating back and forth on a spring as shown. Position 0 is the equilibrium position.
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At Which position is the magnitude of the acceleration of the mass maximum? 

A) 0

B) M

C) E

D) a is constant everywhere

At what position is the force on the mass a maximum? 

A) 0

B) M

C) E

D) force is constant everywhere.

At what position is the total energy (PE + KE) a  maximum?

A) 0

B) M

C) E

D) energy is constant everywhere.

SHM -2
A stiff spring and a floppy spring have potential energy diagrams shown below.   Which is the stiff spring?  A) PINK
B) YELLOW
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Two masses are identical.  One is attached to a stiff spring; the other to a floppy spring.  Both are positioned at x = 0 and given the same initial speeds.  Which spring produces the largest amplitude motion?

A) The stiff spring
B) The floppy spring  

C) Same!

Now the identical masses on the two different springs are pulled to the side and released from rest with the same initial amplitude.  Which spring produces the largest maximum speed of its mass?

A) The stiff spring
B The floppy spring  
 C) Same!

SHM -3 The position of a mass on a spring as a function of time is shown below.  When the mass is at point P on the graph, ..
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A) The velocity v > 0 

B)  v < 0 

C)  v = 0 
A) The acceleration a > 0
B)  a < 0

C)  a = 0

SHM-4
What is the sign of cos(225o)?  Sign of sin(225o)?  

A) cos(225o) = (+) ,  sin(225o) = (–)

B) cos(225o) = (–) ,  sin(225o) = (+)
C) cos(225o) = (+) ,  sin(225o) = (+)

D) cos(225o) = (–) ,  sin(225o) = (–)

E) None of these. One of them is zero.
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370o = (3/2).  What is cos[(3/2)] and what is sin[(3/2)] ?

A) cos[(3/2)] = 1, sin[(3/2)] = 0

B) cos[(3/2)] = 0, sin[(3/2)] = 1

C) cos[(3/2)] = 1, sin[(3/2)] = 1

D) cos[(3/2)] = 0, sin[(3/2)] = 0
E) None of these

SHM -5
A mass on a spring oscillates with a certain amplitude and  a certain period T.  If the mass is doubled, the spring constant of the spring is doubled, and the amplitude of  motion is doubled, THEN the period ...
A)  increases
B) decreases
C) stays the same.

SHM -6.

A kid is swinging on a swing with a period T.  A second kid climbs on with the first, doubling the weight on the swing.  The period of the swing is now...

A)  the same, T

B) 2T

C) 
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D) none of these.

Have you re-registered your clicker at http://www.iclicker.com/registration/index.html?
A) Yes, and there were no problems.

B) I tried, but there was some problem.

C) Not yet, but I will today.

D) No, I don't want my clicker points.
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